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NEW QUESTION 1
A security analyst recently joined the team and is trying to determine which scripting language is being used in a production script to determine if it is malicious.
Given the following script:

forean! Suser in Gat-Conteant ..\chis.Txr
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Which of the following scripting languages was used in the script?

A. PowerShel
B. Ruby

C. Python

D. Shell script

Answer: A

Explanation:
The script uses PowerShell syntax, such as cmdlets, parameters, variables, and comments. PowerShell is a scripting language that can be used to automate tasks
and manage systems.

NEW QUESTION 2

A SOC analyst recommends adding a layer of defense for all endpoints that will better protect against external threats regardless of the device's operating system.
Which of the following best meets this

requirement?

A. SIEM
B. CASB
C. SOAR
D. EDR

Answer: D

Explanation:

EDR stands for Endpoint Detection and Response, which is a layer of defense that monitors endpoints for malicious activity and provides automated or manual
response capabilities. EDR can protect against external threats regardless of the device’s operating system, as it can detect and respond to attacks based on
behavioral analysis and threat intelligence. EDR is also one of the tools that CompTIA CySA+ covers in its exam objectives. Official References:

> https://www.comptia.org/certifications/cybersecurity-analyst

> https://www.comptia.org/blog/the-new-comptia-cybersecurity-analyst-your-questions-answered

> https://resources.infosecinstitute.com/certification/cysa-plus-ia-levels/

NEW QUESTION 3
An end-of-life date was announced for a widely used OS. A business-critical function is performed by some machinery that is controlled by a PC, which is utilizing
the OS that is approaching the end-of- life date. Which of the following best describes a security analyst's concern?

A. Any discovered vulnerabilities will not be remediated.

B. An outage of machinery would cost the organization money.
C. Support will not be available for the critical machinery

D. There are no compensating controls in place for the OS.

Answer: A

Explanation:

A security analyst’s concern is that any discovered vulnerabilities in the OS that is approaching the end-of-life date will not be remediated by the vendor, leaving
the system exposed to potential attacks. The other options are not directly related to the security analyst’s role or responsibility. Verified References: CompTIA
Cybersecurity Analyst (CySA+) Certification Exam Objectives, page 9, section 2.21

NEW QUESTION 4
During the log analysis phase, the following suspicious command is detected

‘el ores rerlacs [ - P R e A TR L T L

-, Hi — SR - R - = 1

Which of the following is being attempted?

A. Buffer overflow
B. RCE

C. ICMP tunneling
D. Smurf attack

Answer: B

Explanation:

RCE stands for remote code execution, which is a type of attack that allows an attacker to execute arbitrary commands on a target system. The suspicious
command in the question is an example of RCE, as it tries to download and execute a malicious file from a remote server using the wget and chmod commands. A
buffer overflow is a type of vulnerability that occurs when a program writes more data to a memory buffer than it can hold, potentially overwriting other memory
locations and corrupting the program’s execution. ICMP tunneling is a technique that uses ICMP packets to encapsulate and transmit data that would normally be
blocked by firewalls or filters. A smurf attack is a type of DDoS attack that floods a network with ICMP echo requests, causing all devices on the network to reply
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and generate a large amount of traffic. Verified References: What Is Buffer Overflow? Attacks, Types & Vulnerabilities - Fortinetl, What Is a Smurf Attack? Smurf
DDoS Attack | Fortinet2, exploit - Interpreting CVE ratings: Buffer Overflow vs. Denial of ...3

NEW QUESTION 5
A company's user accounts have been compromised. Users are also reporting that the company's internal portal is sometimes only accessible through HTTP,
other times; it is accessible through HTTPS. Which of the following most likely describes the observed activity?

A. There is an issue with the SSL certificate causing port 443 to become unavailable for HTTPS access
B. An on-path attack is being performed by someone with internal access that forces users into port 80

C. The web server cannot handle an increasing amount of HTTPS requests so it forwards users to port 80
D. An error was caused by BGP due to new rules applied over the company's internal routers

Answer: B

Explanation:

An on-path attack is a type of man-in-the-middle attack where an attacker intercepts and modifies network traffic between two parties. In this case, someone with
internal access may be performing an on-path attack by forcing users into port 80, which is used for HTTP communication, instead of port 443, which is used for
HTTPS communication. This would allow the attacker to compromise the user accounts and access the company’s internal portal.

NEW QUESTION 6
Which of the following would help an analyst to quickly find out whether the IP address in a SIEM alert is a known-malicious IP address?

A. Join an information sharing and analysis center specific to the company's industry.
B. Upload threat intelligence to the IPS in STIX/TAXII format.

C. Add data enrichment for IPS in the ingestion pipleline.

D. Review threat feeds after viewing the SIEM alert.

Answer: C

Explanation:

The best option to quickly find out whether the IP address in a SIEM alert is a known-malicious IP address is C. Add data enrichment for IPS in the ingestion
pipeline.

Data enrichment is the process of adding more information and context to raw data, such as IP addresses, by using external sources. Data enrichment can help
analysts to gain more insights into the nature and origin of the threats they face, and to prioritize and respond to them accordingly. Data enrichment for IPS
(Intrusion Prevention System) means that the IPS can use enriched data to block or alert on malicious traffic based on various criteria, such as geolocation,
reputation, threat intelligence, or behavior. By adding data enrichment for IPS in the ingestion pipeline, analysts can leverage the IPS’s capabilities to filter out
known-malicious IP addresses before they reach the SIEM, or to tag them with relevant information for further analysis. This can save time and resources for the
analysts, and improve the accuracy and efficiency of the SIEM.

The other options are not as effective or efficient as data enrichment for IPS in the ingestion pipeline. Joining an information sharing and analysis center (ISAC)
specific to the company’s industry (A) can provide valuable threat intelligence and best practices, but it may not be timely or comprehensive enough to cover all
possible malicious IP addresses. Uploading threat intelligence to the IPS in STIX/TAXII format (B) can help the IPS to identify and block malicious IP addresses
based on standardized indicators of compromise, but it may require manual or periodic updates and integration with the SIEM. Reviewing threat feeds after
viewing the SIEM alert (D) can help analysts to verify and contextualize the malicious IP addresses, but it may be too late or too slow to prevent or mitigate the
damage. Therefore, C is the best option among the choices given.

NEW QUESTION 7
A security program was able to achieve a 30% improvement in MTTR by integrating security controls into a SIEM. The analyst no longer had to jump between
tools. Which of the following best describes what the security program did?

A. Data enrichment

B. Security control plane
C. Threat feed combination
D. Single pane of glass

Answer: D

Explanation:

A single pane of glass is a term that describes a unified view or interface that integrates multiple tools or data sources into one dashboard or console. A single
pane of glass can help improve security operations by providing visibility, correlation, analysis, and alerting capabilities across various security controls and
systems. A single pane of glass can also help reduce complexity, improve efficiency, and enhance decision making for security analysts. In this case, a security
program was able to achieve a 30% improvement in MTTR by integrating security controls into a SIEM, which provides a single pane of glass for security
operations. Official References:

https://www.eccouncil.org/cybersecurity-exchange/threat-intelligence/cyber-kill-chain-seven-steps-cyberattack

NEW QUESTION 8
Which of the following is described as a method of enforcing a security policy between cloud customers and cloud services?

A. CASB
B. DMARC
C. SIEM
D. PAM

Answer: A

Explanation:

A CASB (Cloud Access Security Broker) is a security solution that acts as an intermediary between cloud users and cloud providers, and monitors and enforces
security policies for cloud access and usage. A CASB can help organizations protect their data and applications in the cloud from unauthorized or malicious
access, as well as comply with regulatory standards and best practices. A CASB can also provide visibility, control, and analytics for cloud activity, and identify and
mitigate potential threats12
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The other options are not correct. DMARC (Domain-based Message Authentication, Reporting and Conformance) is an email authentication protocol that helps
email domain owners prevent spoofing and phishing attacks by verifying the sender’s identity and instructing the receiver how to handle unauthenticated
messages34 SIEM (Security Information and Event Management) is a security solution that collects, aggregates, and analyzes log data from various sources
across an organization’s network, such as applications, devices, servers, and users, and provides real-time alerts, dashboards, reports, and incident response
capabilities to help security teams identify and mitigate cyberattacks56 PAM (Privileged Access Management) is a security solution that helps organizations
manage and protect the access and permissions of users, accounts, processes, and systems that have elevated or administrative privileges. PAM can help
prevent credential theft, data breaches, insider threats, and compliance violations by monitoring, detecting, and preventing unauthorized privileged access to
critical resources78

NEW QUESTION 9

An incident response team is working with law enforcement to investigate an active web server compromise. The decision has been made to keep the server
running and to implement compensating controls for a period of time. The web service must be accessible from the internet via the reverse proxy and must
connect to a database server. Which of the following compensating controls will help contain the adversary while meeting the other requirements? (Select two).

A. Drop the tables on the database server to prevent data exfiltration.

B. Deploy EDR on the web server and the database server to reduce the adversaries capabilities.
C. Stop the httpd service on the web server so that the adversary can not use web exploits

D. use micro segmentation to restrict connectivity to/from the web and database servers.

E. Comment out the HTTP account in the / etc/passwd file of the web server

F. Move the database from the database server to the web server.

Answer: BD

Explanation:

Deploying EDR on the web server and the database server to reduce the adversaries capabilities and using micro segmentation to restrict connectivity to/from the
web and database servers are two compensating controls that will help contain the adversary while meeting the other requirements. A compensating control is a
security measure that is implemented to mitigate the risk of a vulnerability or an attack when the primary control is not feasible or effective. EDR stands for
Endpoint Detection and Response, which is a tool that monitors endpoints for malicious activity and provides automated or manual response capabilities. EDR can
help contain the adversary by detecting and blocking their actions, such as data exfiltration, lateral movement, privilege escalation, or command execution. Micro
segmentation is a technique that divides a network into smaller segments based on policies and rules, and applies granular access controls to each segment.
Micro segmentation can help contain the adversary by isolating the web and database servers from other parts of the network, and limiting the traffic that can flow
between them. Official References:

> https://partners.comptia.org/docs/default-source/resources/comptia-cysa-cs0-002-exam-objectives

> https://www.comptia.org/certifications/cybersecurity-analyst

> https://www.comptia.org/blog/the-new-comptia-cybersecurity-analyst-your-questions-answered

NEW QUESTION 10
Which of the following best describes the document that defines the expectation to network customers that patching will only occur between 2:00 a.m. and 4:00
a.m.?

A. SLA
B. LOI
C. MOU
D. KPI

Answer: A

Explanation:

SLA (Service Level Agreement) is the best term to describe the document that defines the expectation to network customers that patching will only occur between
2:00 a.m. and 4:00 a.m., as it reflects the agreement between a service provider and a customer that specifies the services, quality, availability, and responsibilities
that are agreed upon. An SLA is a common type of document that is used in various industries and contexts, such as IT, telecom, cloud computing, or outsourcing.
An SLA typically includes metrics and indicators to measure the performance and quality of the service, such as uptime, response time, or resolution time. An SLA
also defines the consequences or remedies for any breaches or failures of the service, such as penalties, refunds, or credits. An SLA can help to manage
customer expectations, formalize communication, improve productivity, and strengthen relationships. The other terms are not as accurate as SLA, as they describe
different types of documents or concepts. LOI (Letter of Intent) is a document that outlines the main terms and conditions of a proposed agreement between two or
more parties, before a formal contract is signed. An LOI is usually non-binding and expresses the intention or interest of the parties to enter into a future
agreement. An LOI can help to clarify the key points of a deal, facilitate negotiations, or demonstrate commitment. MOU (Memorandum of Understanding) is a
document that describes a mutual agreement or cooperation between two or more parties, without creating any legal obligations or commitments. An MOU is
usually more formal than an LOI, but less formal than a contract. An MOU can help to establish a common ground, define roles and responsibilities, or outline
expectations and goals. KPI (Key Performance Indicator) is a concept that refers to a measurable value that demonstrates how effectively an organization or
individual is achieving its key objectives or goals. A KPI is usually quantifiable and specific, such as revenue growth, customer satisfaction, or employee retention.
A KPI can help to track progress, evaluate performance, or identify areas for improvement.

NEW QUESTION 10

A security analyst is performing vulnerability scans on the network. The analyst installs a scanner appliance, configures the subnets to scan, and begins the scan
of the network. Which of the following

would be missing from a scan performed with this configuration?

A. Operating system version
B. Registry key values

C. Open ports

D. IP address

Answer: B
Explanation:
Registry key values would be missing from a scan performed with this configuration, as the scanner appliance would not have access to the Windows Registry of

the scanned systems. The Windows Registry is a database that stores configuration settings and options for the operating system and installed applications. To
scan the Registry, the scanner would need to have credentials to log in to the systems and run a local agent or script. The other items would not be missing from
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the scan, as they can be detected by the scanner appliance without credentials. Operating system version can be identified by analyzing service banners or
fingerprinting techniques. Open ports can be discovered by performing a port scan or sending probes to common ports. IP address can be obtained by resolving
the hostname or using network discovery tools. https://attack.mitre.org/techniques/T1112/

NEW QUESTION 15

A security analyst has found the following suspicious DNS traffic while analyzing a packet capture:

* DNS traffic while a tunneling session is active.

» The mean time between queries is less than one second.

» The average query length exceeds 100 characters. Which of the following attacks most likely occurred?

A. DNS exfiltration

B. DNS spoofing

C. DNS zone transfer
D. DNS poisoning

Answer: A

Explanation:

DNS exfiltration is a technique that uses the DNS protocol to transfer data from a compromised network or device to an attacker-controlled server. DNS exfiltration
can bypass firewall rules and security products that do not inspect DNS traffic. The characteristics of the suspicious DNS traffic in the question match the indicators
of DNS exfiltration, such as:

> DNS traffic while a tunneling session is active: This implies that the DNS protocol is being used to create a covert channel for data transfer.

® The mean time between queries is less than one second: This implies that the DNS queries are being sent at a high frequency to maximize the amount of data
transferred.

> The average query length exceeds 100 characters: This implies that the DNS queries are encoding large amounts of data in the subdomains or other fields of
the DNS packets.

Official References:

> https://partners.comptia.org/docs/default-source/resources/comptia-cysa-cs0-002-exam-objectives

> https://resources.infosecinstitute.com/topic/bypassing-security-products-via-dns-data-exfiltration/

> https://www.reddit.com/r/CompTIA/comments/nvjuzt/dns_exfiltration

NEW QUESTION 16
Which of the following phases of the Cyber Kill Chain involves the adversary attempting to establish communication with a successfully exploited target?

A. Command and control
B. Actions on objectives
C. Exploitation

D. Delivery

Answer: A

Explanation:

Command and control (C2) is a phase of the Cyber Kill Chain that involves the adversary attempting to establish communication with a successfully exploited
target. C2 enables the adversary to remotely control or manipulate the target system or network using various methods, such as malware callbacks, backdoors,
botnets, or covert channels. C2 allows the adversary to maintain persistence, exfiltrate data, execute commands, deliver payloads, or spread to other systems or
networks.

NEW QUESTION 19
After identifying a threat, a company has decided to implement a patch management program to remediate vulnerabilities. Which of the following risk management
principles is the company exercising?

A. Transfer
B. Accept
C. Mitigate
D. Avoid

Answer: C

Explanation:

Mitigate is the best term to describe the risk management principle that the company is exercising, as it means to reduce the likelihood or impact of a risk. By
implementing a patch management program to remediate vulnerabilities, the company is mitigating the threat of cyberattacks that could exploit those vulnerabilities
and compromise the security or functionality of the systems. The other terms are not as accurate as mitigate, as they describe different risk management
principles. Transfer means to shift the responsibility or burden of a risk to another party, such as an insurer or a contractor. Accept means to acknowledge the
existence of a risk and decide not to take any action to reduce it, usually because the risk is low or the cost of mitigation is too high. Avoid means to eliminate the
possibility of a risk by changing the plans or activities that could cause it, such as cancelling a project or discontinuing a service.

NEW QUESTION 23
The analyst reviews the following endpoint log entry:

voke-sr 5 = s F AmE O snEe L E rasdantia NYTCeROAnY ATt n1ETrATAT SerietBliosk

QKa=C i LEODUTSINATE CLLANTCONTUDS “redentla KV ICCEmpany  ag CIATOI ScriptBlock &L use and

ccagg!

Which of the following has occurred?
A. Registry change
B. Rename computer

C. New account introduced
D. Privilege escalation
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Answer: C

Explanation:

The endpoint log entry shows that a new account named “admin” has been created on a Windows system with a local group membership of “Administrators”.
This indicates that a new account has been introduced on the system with administrative privileges. This could be a sign of malicious activity, such as privilege
escalation or backdoor creation, by an attacker who has compromised the system.

NEW QUESTION 26

During an incident, a security analyst discovers a large amount of Pll has been emailed externally from an employee to a public email address. The analyst finds
that the external email is the employee's

personal email. Which of the following should the analyst recommend be done first?

A. Place a legal hold on the employee's mailbox.
B. Enable filtering on the web proxy.

C. Disable the public email access with CASB.
D. Configure a deny rule on the firewall.

Answer: A

Explanation:

Placing a legal hold on the employee’s mailbox is the best action to perform first, as it preserves all mailbox content, including deleted items and original versions
of modified items, for potential legal or forensic purposes. A legal hold is a feature that allows an administrator to retain mailbox data for a user indefinitely or for a
specified period, regardless of the user’s actions or retention policies. A legal hold can be applied to a mailbox using Litigation Hold or In-Place Hold in Exchange
Server or Exchange Online. A legal hold can help to ensure that evidence of data exfiltration or other malicious activities is not lost or tampered with, and that the
organization can comply with any legal or regulatory obligations. The other actions are not as urgent or effective as placing a legal hold on the employee’s
mailbox, as they do not address the immediate threat of data loss or compromise. Enabling filtering on the web proxy may help to prevent some types of data
exfiltration or malicious traffic, but it does not help to recover or preserve the data that has already been emailed externally. Disabling the public email access with
CASB (Cloud Access Security Broker) may help to block or monitor the use of public email services by employees, but it does not help to recover or preserve the
data that has already been emailed externally. Configuring a deny rule on the firewall may help to block or monitor the network traffic from the employee’s laptop,
but it does not help to recover or preserve the data that has already been emailed externally.

NEW QUESTION 30
An organization conducted a web application vulnerability assessment against the corporate website, and the following output was observed:
Alerts (17)
P Absence of Anti-CSRF Tokens
m Content Security Palicy (CSP) Header Mot Set (6)
M Directory Browsing (11)
P Missing Anticlickjacking Header (2]
= Cockie Mo HttpOnly Flag (4)
i Cockie Without Secure Flag
= Cockle with SameSite Attribute None (2)
i Cockie without SameSite Attribute (5)
v Cross-Domain JavaScript Source File Inclusion
7 Timestamp Disclosure - Unix (569)
 X-Content-Type-Optlons Header Missing (42)
mr CORS Header
M Information Disclosure - Sensitive Infarmation in URL (2)
P Information Disclosure - Suspicious Comments (43)
M Loosely Scoped Cookie (5)
M Re-examine Cache-control Directives (33)

Which of the following tuning recommendations should the security analyst share?

A. Set an HttpOnlvflaq to force communication by HTTPS

B. Block requests without an X-Frame-Options header

C. Configure an Access-Control-Allow-Origin header to authorized domains
D. Disable the cross-origin resource sharing header

Answer: B

Explanation:

The output shows that the web application is vulnerable to clickjacking attacks, which allow an attacker to overlay a hidden frame on top of a legitimate page and
trick users into clicking on malicious links. Blocking requests without an X-Frame-Options header can prevent this attack by instructing the browser to not display
the page within a frame.

NEW QUESTION 32

The developers recently deployed new code to three web servers. A daffy automated external device scan report shows server vulnerabilities that are failure items
according to PCI DSS.

If the venerability is not valid, the analyst must take the proper steps to get the scan clean.

If the venerability is valid, the analyst must remediate the finding.

After reviewing the information provided in the network diagram, select the STEP 2 tab to complete the simulation by selecting the correct Validation Result and
Remediation Action for each server listed using the drop-down options.

INTRUCTIONS:

The simulation includes 2 steps.

Stepl:Review the information provided in the network diagram and then move to the STEP 2 tab.
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Answer: A

Explanation:

INSTRUCTIONS

e | i i 34 b St erimalree ol i I ] L B P "l by
Systein Validate Result Remediation Action
WEB_SERVERO1 e Positive v Encrypt Entire Sessior ’
WEB_SERVERD2 rue Positive v Encrypt All Session Cookies .
WEB_SERVERO3 rue Positive v Boouaest Cortificats fr i .

NEW QUESTION 35
An organization has experienced a breach of customer transactions. Under the terms of PCI DSS, which of the following groups should the organization report the
breach to?

A. PCI Security Standards Council
B. Local law enforcement

C. Federal law enforcement

D. Card issuer

Answer: D

Explanation:

Under the terms of PCI DSS, an organization that has experienced a breach of customer transactions should report the breach to the card issuer. The card issuer
is the financial institution that issues the payment cards to the customers and that is responsible for authorizing and processing the transactions. The card issuer
may have specific reporting requirements and procedures for the organization to follow in the event of a breach. The organization should also notify other parties
that may be affected by the breach, such as customers, law enforcement, or regulators, depending on the nature and scope of the breach. Official References:
https://www.pcisecuritystandards.org/

NEW QUESTION 39
Which of the following is the first step that should be performed when establishing a disaster recovery plan?

A. Agree on the goals and objectives of the plan
B. Determine the site to be used during a disasterC Demonstrate adherence to a standard disaster recovery process
C. Identity applications to be run during a disaster

Answer: A

Explanation:

The first step that should be performed when establishing a disaster recovery plan is to agree on the goals and objectives of the plan. The goals and objectives of
the plan should define what the plan aims to achieve, such as minimizing downtime, restoring critical functions, ensuring data integrity, or meeting compliance
requirements. The goals and objectives of the plan should also be aligned with the business needs and priorities of the organization and be measurable and
achievable.

NEW QUESTION 43

You are a penetration tester who is reviewing the system hardening guidelines for a company. Hardening guidelines indicate the following.
2 There must be one primary server or service per device.

> Only default port should be used

> Non- secure protocols should be disabled.

> The corporate internet presence should be placed in a protected subnet Instructions :

> Using the available tools, discover devices on the corporate network and the services running on these devices.
You must determine

> ip address of each device
> The primary server or service each device
2 The protocols that should be disabled based on the hardening guidelines
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NEW QUESTION 46

A security analyst is trying to identify anomalies on the network routing. Which of the following functions can the analyst use on a shell script to achieve the
objective most accurately?

A. function x() { info=$(geoiplookup $1) && echo "$1 | $info" }

B. function x() { info=$(ping -c 1 $1 | awk -F "/" 'TEND{print $5}’) && echo "$1 | $info" }

C. function x() { info=$(dig $(dig -x $1 | grep PTR | tail -n 1 | awk -F ".in-addr" *{print $1} ").origin.asn.cymru.com TXT +short) && echo "$1 | $info" }
D. function x() { info=$(traceroute -m 40 $1 | awk ‘END{print $1}) && echo "$1 | $info" }

Answer: C

Explanation:

The function that can be used on a shell script to identify anomalies on the network routing most accurately is: function x() { info=(dig(dig -x $1 | grep PTR | tail -n 1
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| awk -F “.in-addr” *{print $1} ").origin.asn.cymru.com

TXT +short) && echo “$1 | $info” }

This function takes an IP address as an argument and performs two DNS lookups using the dig command. The first lookup uses the -x option to perform a reverse
DNS lookup and get the hostname associated with the IP address. The second lookup uses the origin.asn.cymru.com domain to get the autonomous system
number (ASN) and other information related to the IP address. The function then prints the IP address and the ASN information, which can help identify any routing
anomalies or inconsistencies

NEW QUESTION 49
An analyst finds that an IP address outside of the company network that is being used to run network and vulnerability scans across external-facing assets. Which
of the following steps of an attack framework is the analyst witnessing?

A. Exploitation

B. Reconnaissance

C. Command and control
D. Actions on objectives

Answer: B

Explanation:

Reconnaissance is the first stage in the Cyber Kill Chain and involves researching potential targets before carrying out any penetration testing. The
reconnaissance stage may include identifying potential targets, finding their vulnerabilities, discovering which third parties are connected to them (and what data
they can access), and exploring existing entry points as well as finding new ones. Reconnaissance can take place both online and offline. In this case, an analyst
finds that an IP address outside of the company network is being used to run network and vulnerability scans across external-facing assets. This indicates that the
analyst is witnessing reconnaissance activity by an attacker. Official References:

https://www.lockheedmartin.com/en-us/capabilities/cyber/cyber-kill-chain.html

NEW QUESTION 54

A security administrator has been notified by the IT operations department that some vulnerability reports contain an incomplete list of findings. Which of the
following methods should be used to resolve

this issue?

A. Credentialed scan
B. External scan

C. Differential scan
D. Network scan

Answer: A

Explanation:

A credentialed scan is a type of vulnerability scan that uses valid credentials to log in to the scanned systems and perform a more thorough and accurate
assessment of their vulnerabilities. A credentialed scan can access more information than a non-credentialed scan, such as registry keys, patch levels,
configuration settings, and installed applications. A credentialed scan can also reduce the number of false positives and false negatives, as it can verify the actual
state of the system rather than relying on inference or assumptions. The other types of scans are not related to the issue of incomplete findings, as they refer to
different aspects of vulnerability scanning, such as the scope, location, or frequency of the scan. An external scan is a scan that is performed from outside the
network perimeter, usually from the internet. An external scan can reveal how an attacker would see the network and what vulnerabilities are exposed to the
public. An external scan cannot access internal systems or resources that are behind firewalls or other security controls. A differential scan is a scan that compares
the results of two scans and highlights the differences between them. A differential scan can help identify changes in the network environment, such as new
vulnerabilities, patched vulnerabilities, or new devices. A differential scan does not provide a complete list of findings by itself, but rather a summary of changes. A
network scan is a scan that focuses on the network layer of the OSI model and detects vulnerabilities related to network devices, protocols, services, and
configurations. A network scan can discover open ports, misconfigured firewalls, unencrypted traffic, and other network-related issues. A network scan does not
provide information about the application layer or the host layer of the OSI model, such as web applications or operating systems.

NEW QUESTION 55
An analyst recommends that an EDR agent collect the source IP address, make a connection to the firewall, and create a policy to block the malicious source IP
address across the entire network automatically. Which of the following is the best option to help the analyst implement this recommendation?

A. SOAR
B. SIEM
C.SLA
D. loC

Answer: A

Explanation:

SOAR (Security Orchestration, Automation, and Response) is the best option to help the analyst implement the recommendation, as it reflects the software
solution that enables security teams to integrate and coordinate separate tools into streamlined threat response workflows and automate repetitive tasks. SOAR is
a term coined by Gartner in 2015 to describe a technology that combines the functions of security incident response platforms, security orchestration and
automation platforms, and threat intelligence platforms in one offering. SOAR solutions help security teams to collect inputs from various sources, such as EDR
agents, firewalls, or SIEM systems, and perform analysis and triage using a combination of human and machine power. SOAR solutions also allow security teams
to define and execute incident response procedures in a digital workflow format, using automation to perform low-level tasks or actions, such as blocking an IP
address or quarantining a device. SOAR solutions can help security teams to improve efficiency, consistency, and scalability of their operations, as well as reduce
mean time to detect (MTTD) and mean time to respond (MTTR) to threats. The other options are not as suitable as SOAR, as they do not match the description or
purpose of the recommendation. SIEM (Security Information and Event Management) is a software solution that collects and analyzes data from various sources,
such as logs, events, or alerts, and provides security monitoring, threat detection, and incident response capabilities. SIEM solutions can help security teams to
gain visibility, correlation, and context of their security data, but they do not provide automation or orchestration features like SOAR solutions. SLA (Service Level
Agreement) is a document that defines the expectations and responsibilities between a service provider and a customer, such as the quality, availability, or
performance of the service. SLAs can help to manage customer expectations, formalize communication, and improve productivity and relationships, but they do
not help to implement technical recommendations like SOAR solutions. loC (Indicator of Compromise) is a piece of data or evidence that suggests a system or
network has been compromised by a threat actor, such as an IP address, a file hash, or a registry key. 10Cs can help to identify and analyze malicious activities or
incidents, but they do not help to implement response actions like SOAR solutions.
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NEW QUESTION 60
A recent zero-day vulnerability is being actively exploited, requires no user interaction or privilege escalation, and has a significant impact to confidentiality and
integrity but not to availability. Which of the following CVE metrics would be most accurate for this zero-day threat?

A. CVSS: 31/AV: N/AC: L/PR: N/UI: N/S: U/C: H/1: K/A: L
B. CVSS:31/AV:K/AC:L/PR:H/UI:R/S:C/C:H/I:H/A:L
C. CVSS:31/AV:N/AC:L/PR:N/UI:H/S:U/C:L/I:N/A:H
D. CVSS:31/AV:L/IAC:L/PR:R/UI:R/S:U/C:H/I:L/A:H

Answer: A

Explanation:

This answer matches the description of the zero-day threat. The attack vector is network (AV:N), the attack complexity is low (AC:L), no privileges are required
(PR:N), no user interaction is required (UI:N), the scope is unchanged (S:U), the confidentiality and integrity impacts are high (C:H/I:H), and the availability impact
is low (A:L). Official References: https://nvd.nist.gov/vuln-metrics/cvss

NEW QUESTION 61
During security scanning, a security analyst regularly finds the same vulnerabilities in a critical application. Which of the following recommendations would best
mitigate this problem if applied along the SDLC phase?

A. Conduct regular red team exercises over the application in production

B. Ensure that all implemented coding libraries are regularly checked

C. Use application security scanning as part of the pipeline for the CI/CDflow
D. Implement proper input validation for any data entry form

Answer: C

Explanation:

Application security scanning is a process that involves testing and analyzing applications for security vulnerabilities, such as injection flaws, broken authentication,
cross-site scripting, and insecure configuration. Application security scanning can help identify and fix security issues before they become exploitable by attackers.
Using application security scanning as part of the pipeline for the continuous integration/continuous delivery (CI/CD) flow can help mitigate the problem of finding
the same vulnerabilities in a critical application during security scanning. This is because application security scanning can be integrated into the development
lifecycle and performed automatically and frequently as part of the CI/CD process.

NEW QUESTION 64

A security analyst performs various types of vulnerability scans. Review the vulnerability scan results to determine the type of scan that was executed and if a false
positive occurred for each device.

Instructions:

Select the Results Generated drop-down option to determine if the results were generated from a credentialed scan, non-credentialed scan, or a compliance scan.
For ONLY the credentialed and non-credentialed scans, evaluate the results for false positives and check the findings that display false positives. NOTE: If you
would like to uncheck an option that is currently selected, click on the option a second time.

Lastly, based on the vulnerability scan results, identify the type of Server by dragging the Server to the results. The Linux Web Server, File-Print Server and
Directory Server are draggable.

If at any time you would like to bring back the initial state of the simulation, please select the Reset All button. When you have completed the simulation, please
select the Done button to submit. Once the simulation is submitted, please select the Next button to continue.
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NEW QUESTION 65

Rt SO R TR LR PR

v

New employees in an organization have been consistently plugging in personal webcams despite the company policy prohibiting use of personal devices. The
SOC manager discovers that new employees are not aware of the company policy. Which of the following will the SOC manager most likely recommend to help
ensure new employees are accountable for following the company policy?

A. Human resources must email a copy of a user agreement to all new employees
B. Supervisors must get verbal confirmation from new employees indicating they have read the user agreement
C. All new employees must take a test about the company security policy during the cjitoardmg process
D. All new employees must sign a user agreement to acknowledge the company security policy

Answer: D
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Explanation:

The best action that the SOC manager can recommend to help ensure new employees are accountable for following the company policy is to require all new
employees to sign a user agreement to acknowledge the company security policy. A user agreement is a document that defines the rights and responsibilities of
the users regarding the use of the company’s systems, networks, or resources, as well as the consequences of violating the company’s security policy. Signing a
user agreement can help ensure new employees are aware of and agree to comply with the company security policy, as well as hold them accountable for any
breaches or incidents caused by their actions or inactions.

NEW QUESTION 69
An attacker has just gained access to the syslog server on a LAN. Reviewing the syslog entries has allowed the attacker to prioritize possible next targets. Which
of the following is this an example of?

A. Passive network foot printing
B. OS fingerprinting

C. Service port identification

D. Application versioning

Answer: A

Explanation:

Passive network foot printing is the best description of the example, as it reflects the technique of collecting information about a network or system by monitoring or
sniffing network traffic without sending any packets or interacting with the target. Foot printing is a term that refers to the process of gathering information about a
target network or system, such as its IP addresses, open ports, operating systems, services, or vulnerabilities. Foot printing can be done for legitimate purposes,
such as penetration testing or auditing, or for malicious purposes, such as reconnaissance or intelligence gathering. Foot printing can be classified into two types:
active and passive. Active foot printing involves sending packets or requests to the target and analyzing the responses, such as using tools like ping, traceroute, or
Nmap. Active foot printing can provide more accurate and detailed information, but it can also be detected by firewalls or intrusion detection systems (IDS).
Passive foot printing involves observing or capturing network traffic without sending any packets or requests to the target, such as using tools like tcpdump,
Wireshark, or Shodan. Passive foot printing can provide less information, but it can also avoid detection by firewalls or IDS. The example in the question shows
that the attacker has gained access to the syslog server on a LAN and reviewed the syslog entries to prioritize possible next targets. A syslog server is a server
that collects and stores log messages from various devices or applications on a network. A syslog entry is a record of an event or activity that occurred on a device
or application, such as an error, a warning, or an alert. By reviewing the syslog entries, the attacker can obtain information about the network or system, such as its
configuration, status, performance, or security issues. This is an example of passive network foot printing, as the attacker is not sending any packets or requests to
the target, but rather observing or capturing network traffic from the syslog server. The other options are not correct, as they describe different techniques or
concepts. OS fingerprinting is a technique of identifying the operating system of a target by analyzing its responses to certain packets or requests, such as using
tools like Nmap or Xprobe2. OS fingerprinting can be done actively or passively, but it is not what the attacker is doing in the example. Service port identification is
a technique of identifying the services running on a target by scanning its open ports and analyzing its responses to certain packets or requests, such as using
tools like Nmap or Netcat. Service port identification can be done actively or passively, but it is not what the attacker is doing in the example. Application versioning
is a concept that refers to the process of assigning unique identifiers to different versions of an application, such as using numbers, letters, dates, or names.
Application versioning can help to track changes, updates, bugs, or features of an application, but it is not related to what the attacker is doing in the example.

NEW QUESTION 70

An analyst is reviewing a vulnerability report and must make recommendations to the executive team. The analyst finds that most systems can be upgraded with a
reboot resulting in a single downtime window. However, two of the critical systems cannot be upgraded due to a vendor appliance that the company does not have
access to. Which of the following inhibitors to remediation do these systems and associated vulnerabilities best represent?

A. Proprietary systems

B. Legacy systems

C. Unsupported operating systems
D. Lack of maintenance windows

Answer: A

Explanation:

Proprietary systems are systems that are owned and controlled by a specific vendor or manufacturer, and that use proprietary standards or protocols that are not
compatible with other systems. Proprietary systems can pose a challenge for vulnerability management, as they may not allow users to access or modify their
configuration, update their software, or patch their vulnerabilities. In this case, two of the critical systems cannot be upgraded due to a vendor appliance that the
company does not have access to. This indicates that these systems and associated vulnerabilities are examples of proprietary systems as inhibitors to
remediation

NEW QUESTION 75
The vulnerability analyst reviews threat intelligence regarding emerging vulnerabilities affecting workstations that are used within the company:

| T
| .I. lE‘Er:
A dmarakilitg fle [ATACK ‘-fmarﬂ |Authentication|.” > _ .
vulnerabdity title | -, : X b ! linteraction
vector |complexity|required - g
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. e o . ! 1
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" FETTR T Ii I I~
Vulnerability C Network|High |Yes !-"rr_:::.
Vulnerability D |Local I!_ ow Mo {No

Which of the following vulnerabilities should the analyst be most concerned about, knowing that end users frequently click on malicious links sent via email?
A. Vulnerability A
B. Vulnerability B
C. Vulnerability C
D. Vulnerability D

Answer: B

Explanation:
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Vulnerability B is the vulnerability that the analyst should be most concerned about, knowing that end users frequently click on malicious links sent via email.
Vulnerability B is a remote code execution vulnerability in Microsoft Outlook that allows an attacker to run arbitrary code on the target system by sending a
specially crafted email message. This vulnerability is very dangerous, as it does not require any user interaction or attachment opening to trigger the exploit. The
attacker only needs to send an email to the victim’s Outlook account, and the code will execute automatically when Outlook connects to the Exchange server. This
vulnerability has a high severity rating of 9.8 out of 10, and it affects all supported versions of Outlook. Therefore, the analyst should prioritize patching this
vulnerability as soon as possible to prevent potential compromise of the workstations.

NEW QUESTION 77

A managed security service provider is having difficulty retaining talent due to an increasing workload caused by a client doubling the number of devices connected
to the network. Which of the following

would best aid in decreasing the workload without increasing staff?

A. SIEM
B. XDR
C. SOAR
D. EDR

Answer: C

Explanation:

SOAR stands for Security Orchestration, Automation and Response, which is a set of features that can help security teams manage, prioritize and respond to
security incidents more efficiently and effectively. SOAR can help decrease the workload without increasing staff by automating repetitive tasks, streamlining
workflows, integrating different tools and platforms, and providing actionable insights and recommendations. SOAR is also one of the current trends that CompTIA
CySA+ covers in its exam objectives. Official References:

> https://www.comptia.org/blog/the-new-comptia-cybersecurity-analyst-your-questions-answered

> https://www.comptia.org/certifications/cybersecurity-analyst

> https://partners.comptia.org/docs/default-source/resources/comptia-cysa-cs0-002-exam-objectives

NEW QUESTION 80
During a cybersecurity incident, one of the web servers at the perimeter network was affected by ransomware. Which of the following actions should be performed
immediately?

A. Shut down the server.

B. Reimage the server

C. Quarantine the server

D. Update the OS to latest version.

Answer: C

Explanation:

Quarantining the server is the best action to perform immediately, as it isolates the affected server from the rest of the network and prevents the ransomware from
spreading to other systems or data. Quarantining the server also preserves the evidence of the ransomware attack, which can be useful for forensic analysis and
law enforcement investigation. The other actions are not as urgent as quarantining the server, as they may not stop the ransomware infection, or they may destroy
valuable evidence. Shutting down the server may not remove the ransomware, and it may trigger a data deletion mechanism by the ransomware. Reimaging the
server may restore its functionality, but it will also erase any traces of the ransomware and make recovery of encrypted data impossible. Updating the OS to the
latest version may fix some vulnerabilities, but it will not remove the ransomware or decrypt the data. Official References:

> https://www.cisa.gov/stopransomware/ransomware-guide

> https://www.cisa.gov/stopransomware/ive-been-hit-ransomware

NEW QUESTION 83

A company's security team is updating a section of the reporting policy that pertains to inappropriate use of resources (e.g., an employee who installs cryptominers
on workstations in the office). Besides the security team, which of the following groups should the issue be escalated to first in order to comply with industry best
practices?

A. Help desk

B. Law enforcement
C. Legal department
D. Board member

Answer: C

Explanation:

The correct answer is C. Legal department.

According to the CompTIA Cybersecurity Analyst (CySA+) certification exam objectives, one of the tasks for a security analyst is to “report and escalate security
incidents to appropriate stakeholders and authorities” 1. This includes reporting any inappropriate use of resources, such as installing cryptominers on
workstations, which may violate the company’s policies and cause financial and reputational damage. The legal department is the most appropriate group to
escalate this issue to first, as they can advise on the legal implications and actions that can be taken against the employee. The legal department can also
coordinate with other groups, such as law enforcement, help desk, or board members, as needed. The other options are not the best choices to escalate the issue
to first, as they may not have the authority or expertise to handle the situation properly.

NEW QUESTION 87
Which of the following is a reason why proper handling and reporting of existing evidence are important for the investigation and reporting phases of an incident
response?

A. TO ensure the report is legally acceptable in case it needs to be presented in court
B. To present a lessons-learned analysis for the incident response team

C. To ensure the evidence can be used in a postmortem analysis

D. To prevent the possible loss of a data source for further root cause analysis
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Answer: A

Explanation:

The correct answer is A. To ensure the report is legally acceptable in case it needs to be presented in court. Proper handling and reporting of existing evidence are
important for the investigation and reporting phases of an incident response because they ensure the integrity, authenticity, and admissibility of the evidence in
case it needs to be presented in court. Evidence that is mishandled, tampered with, or poorly documented may not be accepted by the court or may be challenged
by the opposing party. Therefore, incident responders should follow the best practices and standards for evidence collection, preservation, analysis, and
reportingl.

The other options are not reasons why proper handling and reporting of existing evidence are important for the investigation and reporting phases of an incident
response. They are rather outcomes or benefits of conducting a thorough and effective incident response process. A lessons-learned analysis (B) is a way to
identify the strengths and weaknesses of the incident response team and improve their performance for future incidents. A postmortem analysis © is a way to
determine the root cause, impact, and timeline of the incident and provide recommendations for remediation and prevention. A root cause analysis (D) is a way to
identify the underlying factors that led to the incident and address them accordingly.

NEW QUESTION 92
An incident response team found loCs in a critical server. The team needs to isolate and collect technical evidence for further investigation. Which of the following
pieces of data should be collected first in order to preserve sensitive information before isolating the server?

A. Hard disk

B. Primary boot partition
C. Malicious tiles

D. Routing table

E. Static IP address

Answer: A

Explanation:

The hard disk is the piece of data that should be collected first in order to preserve sensitive information before isolating the server. The hard disk contains all the
files and data stored on the server, which may include evidence of malicious activity, such as malware installation, data exfiltration, or configuration changes. The
hard disk should be collected using proper forensic techniques, such as creating an image or a copy of the disk and maintaining its integrity using hashing
algorithms.

NEW QUESTION 97
A security analyst is reviewing the following alert that was triggered by FIM on a critical system:
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Which of the following best describes the suspicious activity that is occurring?

A. A fake antivirus program was installed by the user.

B. A network drive was added to allow exfiltration of data
C. A new program has been set to execute on system start
D. The host firewall on 192.168.1.10 was disabled.

Answer: C

Explanation:

A new program has been set to execute on system start is the most likely cause of the suspicious activity that is occurring, as it indicates that the malware has
modified the registry keys of the system to ensure its persistence. File Integrity Monitoring (FIM) is a tool that monitors changes to files and registry keys on a
system and alerts the security analyst of any unauthorized or malicious modifications. The alert triggered by FIM shows that the malware has created a new
registry key under the Run subkey, which is used to launch programs automatically when the system starts. The new registry key points to a file named
“update.exe” in the Temp folder, which is likely a malicious executable disguised as a legitimate update file. Official References:

> https://www.comptia.org/blog/the-new-comptia-cybersecurity-analyst-your-questions-answered

> https://partners.comptia.org/docs/default-source/resources/comptia-cysa-cs0-002-exam-objectives

> https://www.comptia.org/training/books/cysa-cs0-002-study-guide

NEW QUESTION 102

An older CVE with a vulnerability score of 7.1 was elevated to a score of 9.8 due to a widely available exploit being used to deliver ransomware. Which of the
following factors would an analyst most likely communicate

as the reason for this escalation?

A. Scope

B. Weaponization
C. CVSsSs

D. Asset value

Answer: B
Explanation:

Weaponization is a factor that describes how an adversary develops or acquires an exploit or payload that can take advantage of a vulnerability and deliver a
malicious effect. Weaponization can increase the severity or impact of a vulnerability, as it makes it easier or more likely for an attacker to exploit it successfully
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and cause damage or harm. Weaponization can also indicate the level of sophistication or motivation of an attacker, as well as the availability or popularity of an
exploit or payload in the cyber threat landscape. In this case, an older CVE with a vulnerability score of 7.1 was elevated to a score of 9.8 due to a widely available
exploit being used to deliver ransomware. This indicates that weaponization was the reason for this escalation.

NEW QUESTION 103
A technician identifies a vulnerability on a server and applies a software patch. Which of the following should be the next step in the remediation process?

A. Testing

B. Implementation
C. Validation

D. Rollback

Answer: C

Explanation:

The next step in the remediation process after applying a software patch is validation. Validation is a process that involves verifying that the patch has been
successfully applied, that it has fixed the vulnerability, and that it has not caused any adverse effects on the system or application functionality or performance.
Validation can be done using various methods, such as scanning, testing, monitoring, or auditing.

NEW QUESTION 108

An analyst has been asked to validate the potential risk of a new ransomware campaign that the Chief Financial Officer read about in the newspaper. The
company is a manufacturer of a very small spring used in the newest fighter jet and is a critical piece of the supply chain for this aircraft. Which of the following
would be the best threat intelligence source to learn about this new campaign?

A. Information sharing organization

B. Blogs/forums

C. Cybersecuritv incident response team
D. Deep/dark web

Answer: A

Explanation:

An information sharing organization is a group or network of organizations that share threat intelligence, best practices, or lessons learned related to cybersecurity
issues or incidents. An information sharing organization can help security analysts learn about new ransomware campaigns or other emerging threats, as well as
get recommendations or guidance on how to prevent, detect, or respond to them. An information sharing organization can also help security analysts collaborate or
coordinate with other organizations in the same industry or region that may face similar threats or challenges.

NEW QUESTION 110

A cloud team received an alert that unauthorized resources were being auto-provisioned. After investigating, the team suspects that crypto mining is occurring.
Which of the following indicators would

most likely lead the team to this conclusion?

A. High GPU utilization

B. Bandwidth consumption
C. Unauthorized changes
D. Unusual traffic spikes

Answer: A

Explanation:

High GPU utilization is the most likely indicator that cryptomining is occurring, as it reflects the intensive computational work that is required to solve the complex
mathematical problems involved in mining cryptocurrencies. Cryptomining is the process of generating new units of a cryptocurrency by using computing power to
verify transactions and create new blocks on the blockchain. Cryptomining can be done legitimately by individuals or groups who participate in a mining pool and
share the rewards, or illegitimately by threat actors who use malware or scripts to hijack the computing resources of unsuspecting victims and use them for their
own benefit. This practice is called cryptojacking, and it can cause performance degradation, increased power consumption, and security risks for the affected
systems. Cryptomining typically relies on the GPU (graphics processing unit) rather than the CPU (central processing unit), as the GPU is better suited for parallel
processing and can handle more calculations per second. Therefore, a high GPU utilization rate can be a sign that cryptomining is taking place on a system,
especially if there is no other explanation for the increased workload. The other options are not as indicative of cryptomining as high GPU utilization, as they can
have other causes or explanations. Bandwidth consumption can be affected by many factors, such as network traffic, streaming services, downloads, or updates. It
is not directly related to cryptomining, which does not require a lot of bandwidth to communicate with the mining pool or the blockchain network. Unauthorized
changes can be a result of many types of malware or cyberattacks, such as ransomware, spyware, or trojans. They are not specific to cryptomining, which does
not necessarily alter any files or settings on the system, but rather uses its processing power. Unusual traffic spikes can also be caused by various factors, such as
legitimate surges in demand, distributed denial-of-service attacks, or botnets. They are not indicative of cryptomining, which does not generate a lot of traffic or
requests to or from the system.

NEW QUESTION 111
An organization enabled a SIEM rule to send an alert to a security analyst distribution list when ten failed logins occur within one minute. However, the control was
unable to detect an attack with nine failed logins. Which of the following best represents what occurred?

A. False positive
B. True negative
C. False negative
D. True positive

Answer: C
Explanation:

The correct answer is C. False negative.
A false negative is a situation where an attack or a threat is not detected by a security control, even though it should have been. In this case, the SIEM rule was
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unable to detect an attack with nine failed logins, which is below the threshold of ten failed logins that triggers an alert. This means that the SIEM rule missed a

potential attack and failed to alert the security analysts, resulting in a false negative.

A false positive is a situation where a benign or normal activity is detected as an attack or a threat by a security control, even though it is not. A true negative is a
situation where a benign or normal activity is not detected as an attack or a threat by a security control, as expected. A true positive is a situation where an attack
or a threat is detected by a security control, as expected. These are not the correct answers for this question.

NEW QUESTION 114

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy CS0-003 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/CS0-003/ (150 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual CS0-003 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
CS0-003 Product From:

https:/lwww.2passeasy.com/dumps/CS0-003/

Money Back Guarantee

CS0-003 Practice Exam Features:

* CS0-003 Questions and Answers Updated Frequently
* CS0-003 Practice Questions Verified by Expert Senior Certified Staff
* CS0-003 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* CS0-003 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

